Hoja2.1 Matematicas 1° BAT © FerMates
Ecuaciones trigonométricas

4. COS2X+1=cosx

cos’ X — sen’x + 1= cosx
cos? x— (1- cos? x)+1=cosx
cos’ X—1+cos’ X+1-cosx=0
2cos” x—cosx=0
cosx(2cosx-1)=0
cosx=0= x, =90°% x, =270°
1
2c0sx—1=0; cos;x:E = X3 =60° x, =300°

5. 25en®X+3cosx =0

2(1— cos? x)+ 3cosx =0
2—2c0s”* x+3cosx =0
2cos’ x—3cosx—-2=0
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COSX = = ={ 2 (lasolucién cosx = 2 no esvélida)
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1 X, =120°
COSX=——=
27 |x, =240°

6- 2C0S* X+3cosx =2

2c0s’ X +3cosx—2=0

1
—3+./ -3+
COSX = 3t 49+16 _ 35 =( 3
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(lasolucion cosx = —2 no esvdalida)

1 X, =60°
COSX=—=
2 X, =300°




